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S (t) =sin(r)
>> syms t
>> f = sin(t)
>> laplace (f)
ans =
1/ (s"2+1)
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f(t)=¢e"cos(t)

>> syms t
>> f = exp(t) *cos (t)

>> laplace(t)

ans =
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>> syms s
>> £ = 2/ (s"3)

>> ilaplace (f)

ans =
1/2*t72
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F(s) =
() st +4

>> syms s

>> £ = 2/ (s"2+4)
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>> ilaplace (f)

ans=
1/2*47~(1/2)*sin (4" (1/2)*t
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>> syms s
>> N = [2]
> D = [1 12 36 0]
>> [r p y] = residue (N, D)
r = p = y =
-0.0556 -6 []
-0.3333 -6
0.0556 0
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>> eql '(3*s+10) *I1-10*I2=4/ (s+2)
>> eqg2 = '"-10*I1+(4*s+10)*I2=-2/(s+1)
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>> solution = solve(egl,eg2,'I1l','I2")
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>> I1 = solution.Il
>> 12 = solution.I?
>> il = ilaplace(Il)
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10/29%exp (-t) -172/667*exp (-35/6%t) -2/23%exp (-2*t)

>> 12 = ilaplace(I2)

12 =

129/667*exp (-35/6*t)-10/23*%exp (-2*t)+7/29*%exp (-t)
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